
K010/A (2/17)

P.

1   184 00100

2   184 00200

3   184 00300

4   184 00600

5   184 00400

6   184 00500

10  900 01250   M8x25     

11  184 00700

12  900 01041   M6x30

13  900 01033   M6x25   

14  900 01260   M3,9x22     

15  900 01062   M10x60    

16  900 02006   M6   

17  900 02112   M10    

18  900 03006   Ø 6,4

20  900 10002   6x6X50

21  900 10006   6x6x22

23  900 10001   6x6x36

24  900 03001   Ø 4,3

25  900 03014   Ø 10,5

26  184 00021

27  184 00020

28  102 02420

31  180 00500

32  110 00510

33  180 01000

34  900 31042

35  180 00180

36  900 01047   M8x25

 

Nr.

POZ.
ØD

32

31

22

20

Ø

D

4

14

24

16

18

10

11

3

1

13

15

2

34

5

6

33

17

25

20

21

23

12

32

Ø

D

31

Ø

D

28

35

36


